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. . NAME: ettt
Skill Questlons Date: e
. . . . 1
1 Circle the trig function that is equal to —
sin x
sec x tan x CSC I cot x COS
2  Circle the trig function that is equivalent to
tan x
sec tan x CSC T cot CoS T
. . . . . COS w
3  Circle the trig function that is equivalent to o 7
sec tan x CSC T cot CoS T

4 Circle the expression that is equivalent to sec « cos ©

-1 —COS I —Sec 1

5  Circle the expression that is equivalent to tan = cos «

cos“ x sin? x sin x COS I cot
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. . ) ) sin f sec 0
6 Circle the expression that is equivalentto ————
tan 6
1 -1 sin 0 sin 6
cos 0
7  Find the value of 2(cos(45)) + sin(30)
Write the answer in simplest radical form.
8 Find the value of tan(30) + sin(60)
Write the answer in simplest radical form.
60) + 1
9 Find the value of COS_( )+
sin(30)
Write the answer in simplest form.
. . ) ) sin 6 csc 6
10 Circle the expression that is equivalent to ot 0
cot 6 csc tan 6 sin 6
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Applied Questions

11 Verify the identity:
tan 6 + cot 0

2
= csc” 0
tand

12 Verify the identity:
cos? 6

— =1 in 6
1 —sinf +sin

13 Verify the identity:
sin @ cot 6 sec 0 =1
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14 Verify the identity:

COS I 1+ sin x
= 2sec x

1-+sin x CoS T

15 Verify the identity:

sinfz — costz

sinz — cos®z

=1
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Answers
e )
Question Question Answers Standard
number
1 Circle the trig function that is equal sec T tan z @ cot z cosz HSFTF.C.8
to .1
s x
sec x tan ¢ csc x cot * cos T
2 Circle the trig function that is sco tane cscs sz HSFTF.C.8
equivalentto __!
tan ©
sec x tan  csc x cot * cos x
3 Circle the trig function that is secz tanz cscz cosz HSFTF.C.8
equivalent to &5 %
s r
sec x tan  csc x cot r cos x
4 Circle the expression that is 14 cesa oser (1) HSFTF.C.8
equivalenttosec = cos
-1 —CoS T —sec T 1
5 Circle the expression that is cos?z  sin’z cos 2 cot z  HSFTF.C.8
equivalent to tan x cos x
cos’z sin’z sin x cos  cot x
6 Circle the expression that is @ 1 s1_n(; sin 6 HSF.TF.C.8
equivalent to sinfsecd .
tan 6
sin 0
1 -1 sin 6
cos 6
7 Find the value of 2(cos(45))+sin(30) | /3 | 1 or 2v2+1 HSFTF.C.8
2
Write the answer in simplest radical
form.
\. J
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e )
Question Question Answers Standard
number
8 Find the value of tan (30) + sin (60) 5v/3 HSF.TF.C.8
6
Write the answer in simplest radical
form.
60) + 1
9 Find the value of <2360 1 3 HSFTF.C.8
sin(30)
Write the answer in simplest form.
10 Circle the expression that is cotd cscl sinf = HSF.TF.C.8
equivalent to Sin 0 csc 0
cot 6
cotf csch tanf sin6
11 Verify the identity: tan @ + cot @ HSF.TF.C.8
tan 6 + cot 6 9 tan 6 B
= csc” 0
tan 0 tan 6 cotf
tanf  tanf
1+ cot 6 cot 0 =
1+cot?d = csc? @
12 Verify the identity: cos2 0 HSFTF.C.8
2 1T _cnf
cos® 0 1—sin 6
——— =1+sin 0
1—siné 1—sin29_
1—sin?6
(1 —sin 0)(1 +sin 0)
1—sin 6 N
=1+sin 6
13 Verify the identity: sin @ cot 0 sec 0 = HSFTF.C.8
sin 6 cot 0 sec 6 =1 . cos 6 1
sin 0 — =
sin 8 cos 6
N\ J
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e )
Question Question Answers Standard
number
14 Verify the identity: cos z l+sinz | HSFTF.C.8
cos 1+sin z 1 +sin z cos z
: =2sec T
1-+sin x COos T cos z(cos ) + (1 +sin z)(1 +sin z)
(1 + sin )(cos z) -
cos’z + 1+ 2sin z +sin’z
(1+sin z)(cos )
1+1+4+2sinz
(1+sin z)(cos z)
2+ 2sin x B
(1+sin z)(cos )
2(1+sinz)
(1+sin z)(cos =)
2 p—
cos &
= 2secx
15 Verify the identity: sin z — cos* z | HSFTF.CS8
sin z — cos* z sin? z — cos® x
SiIl2 T — C052 T =1 (sin® z + cos® z)(sin’ z — cos’z)
sin®z — cos®x B
. 2 2.
sin“xz 4+ cos“x =1
J
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